183 COMPRESSION FITTINGS / NICKEL-PLATED BRASS

CONSTRUCTION DETAILS

-20°C + +80°C

The working temperature is
determined by the features of the
tube used

Working pressure:
Up to 60 Bar

The max working pressure is
determined by the features of the
tube used

Comepressed air, oil and fluids
suitable with construction
materials

- Taper gas BSPT ISO 7
from R1/8" to R1/2"

- Parallel gas BSPP ISO 228
from G1/8" to G1/2"

Metal tubes: brass, copper, stainless
steel and aluminum

Plastic tubes: using support bush
3250: Polyethylene PE, Polyamide PA,
PTFE, FEP (3250)

Body: Turning - nickel-plated brass
UNIEN 12164 CW614N

Hot forging & machining -
nickel-plated brass

UNIEN12165 CW617N

Lock nut: Nickel-plated brass
UNIEN 12164 CW614N
Ogive: Yellow brass

UNIEN 12164 CW 614N

SILICONE {33
J Products in compliance with
REACH

EC Regulation 1907/2006

ccccccc

Products in compliance with

ROHS3 ) .. directive EU 2015/863

Body

Lock nut

Ogive (internal)

TIGHTENING TORQUE TIGHTENING TORQUE

TAPER GAS BSPT ISO 7 PARALLEL GAS BSPP ISO 228
THREAD 1/8" 1/4" 3/8" /2 THREAD 1/8" /4" 3/8" /2
Nm 8 12 14 16 Nm 5 8 10 12

9

drawings and technical data are not binding & can be changed without notice




COMPRESSION FITTINGS / NICKEL-PLATED BRASS

184

3100 Male connector BSPT thread
CODE @D T A L CH1 | CH2 g
3100TR184 4 R1/8" 8,0 270 10 10 12,0
3100TR186 R1/8" 8,0 28,0 12 12 16,0
3100TR146 © R1/4" 11,0 32,5 14 12 24,0
3100TR188 R1/8" 8,0 29,5 12 14 18,0
3100TR148 8 R1/4" 11,0 33,0 14 14 24,0
3100TR388 R3/8" 11,5 33,0 17 14 36,0
3100TR1410 R1/4" 11,0 375 17 19 44,0
3100TR3810 10 R3/8" 11,5 38,0 17 19 50,0
3100TR1210 R1/2" 14,0 40,5 22 19 74,0
3100TR3812 R3/8" 11,5 390 19 22 58,0
3100TR1212 " R1/2" 14,0 410 22 22 78,0
3100TR1214 14 R1/2" 14,0 425 22 27 102,0
3100TR1215 15 R1/2" 14,0 42,5 22 27 96,0
3100TR1216 16 R1/2" 14,0 42,0 24 30 112,0
3100TR1218 18 R1/2" 14,0 43,0 26 32 126,0
3120 Male connector BSPP thread

CODE @D T A L CH1 | CH2 g
3120TR184 4 G1/8" 6,0 250 14 10 16,0
3120TR186 G1/8" 6,0 26,0 14 12 16,0
3120TR146 © Gl1/4" 8,0 295 17 12 24,0
3120TR188 G1/8" 6,0 275 14 14 18,0
3120TR148 8 G1/4" 8,0 30,0 17 14 28,0
3120TR388 G 3/8" 9.0 30,5 19 14 34,0
3120TR1410 Gl | 80 345 17 19 440
3120TR3810 " G 3/8" 9,0 36,0 19 19 50,0

drawings and technical data are not binding & can be changed without notice



185 COMPRESSION FITTINGS / NICKEL-PLATED BRASS

3130 Female connector BSPP thread
@D
’__‘,‘ CODE @D T A L CH1 CH2 e}
o Elg 3130TR184 4 G1/8" 8,0 24,5 14 10 160
"IZ . 3130TR186 . G1/8’ 80 26,0 14 12 170
3130TR146 G4 | 10 30,5 17 12 260
3130TR188 Gl/8 | 80 26,5 14 14 20,0
L;J 3130TR148 8 Gi/4 | nmo 310 17 14 280

31307R388 G3/8" | 15 310 20 14 320
3130TR1410 G/ | 1o 35,5 17 19 460
3130TR3810 © oy | s 36,5 20 19 500
3130TR3812 G3/8 | 15 370 20 22 580
3130TR1212 2 e | o 38,5 2 22 700
3130TR1214 4| G2 | 150 40,0 2 27 98,0
3130TR1215 15 | G2 | 150 405 2 27 94,0
3130TR1216 6 | G120 | 160 45 2% 30 1100
3130TR1218 18 | G120 | 160 430 2 32 1340

3140 Male elbow BSPT thread

L1
CODE @D T A L1 L2 CH1 | CH2 g

3140TR184 4 R1/8" | 80 | 210 | 160 | © 10| 140
3140TR186 R1/8 | 80 | 220 | 160 | © 12| 160
3140TR146 ¢ R1/4° | M0 | 245 | 200 | 1 12 | 240
3140TR188 R1/8 | 80 | 240 | 170 | 1 14| 220
3140TR148 8 R1/4° | M0 | 240 | 200 | 1 14| 260
3140TR388 R3/8" | 15 | 270 | 240 | 13 14| 360
3140TR1410 R1/4 | 10 | 320 | 235 | 13 19 | 480
3140TR3810 10 | R3/8" | 15 | 320 | 240 | 13 19 | 520
3140TR1210 R1/2° | 140 | 340 | 285 | 15 19 | 660
3140TR3812 R3/8" | 1,5 | 345 | 255 | 15 2 | 690
3140TR1212 2o | o | sas | 285 | s 2 | 70
3140TR1214 4 | R1/2° | 140 | 380 | 300 | 17 27 | 1060
31401R1215 15 | Ri/2" | 140 | 380 | 300 | 17 27| 1000
31401R1216 16| R1/2° | 140 | 395 | 315 | 19 30 | 1240
3140TR1218 18 | R1/2° | 140 | 440 | 340 | 22 32 | 1560

a drawings and technical data are not binding & can be changed without notice



COMPRESSION FITTINGS / NICKEL-PLATED BRASS

186

3150 Female elbow BSPP thread
. CODE @D T A | Ll | 12 CHl CH2 | g
3150TR184 4 G1/8" 8,0 22,0 20,0 Q 10 18,0
3150TR186 G1/8" 8,0 24,0 20,0 Q 12 20,0
3150TR146 © Gl1/4" 11,0 270 255 13 12 390
3150TR188 G1/8" 8,0 24,0 20,0 11 14 26,0
3150TR148 ’ G1/4" 11,0 275 25,5 13 14 40,0
3160 Male tee BSPT thread
CODE @D T AL 2 | CH1 | CH2 g
3160TR184 4 R1/8" 8,0 420 16,0 Q 10 22,0
3160TR186 R1/8" 8,0 46,0 16,0 Q 12 26,0
> 3160TR146 © R1/4" | 110 | 480 | 200 " 12 | 340
3160TR188 R1/8" 8,0 48,0 170 11 14 34,0
3160TR148 8 R1/4" 11,0 48,0 20,0 11 14 38,0
3160TR388 R3/8" 11,5 54,0 24,0 13 14 52,0
3160TR1410 R1/4° | 10 | 640 | 235 | 13 19 | 800
3160TR3810 O R | s | eao | 240 | 13 19 | 840
3160TR3812 R3/8" 11,5 690 255 15 22 108,0
3160TR1212 " R1/2" 14,0 69,0 28,5 15 22 118,0
3160TR1214 14 R1/2 14,0 76,0 30,0 17 27 176,0
3160TR1215 15 R1/2" 14,0 76,0 30,0 17 27 170,0
3160TR1216 16 R1/2" 14,0 79,0 31,5 19 30 212,0
3160TR1218 18 R1/2" 14,0 88,0 34,0 22 32 256,0
3170 Lateral male tee BSPT thread
L3
v 22 CODE @D T A Ll |12 13 CHI CH2| g
3170TR184 4 | RI8 | 80 | 30 | 160 | 20 | 9 | 10 | 220
3170TR186 R1/8" 8,0 390 16,0 23,0 Q 10 26,0
CH1 < 3170TR146 © R1/4" | N0 | 445 | 200 | 245 | 1 12| 340
3170TR188 R1/8" 8,0 41,0 170 24,0 11 14 34,0
:I d 3170TR148 8 R1/4" 11,0 44,0 20,0 24,0 11 14 38,0
LL_J 3170TR388 R3/8" 11,5 51,0 24,0 270 13 14 52,0
3170TR1410 R1/4" 11,0 55,5 235 32,0 13 19 80,0
3170TR3810 " R3/8" 11,5 56,0 24,0 32,0 13 19 84,0
3170TR3812 R3/8" 11,5 60,0 25,5 34,5 15 22 110,0
3170TR1212 E R1/2" 14,0 63,0 28,5 34,5 15 22 118,0
3170TR1214 14 R1/2" 14,0 68,0 30,0 38,0 17 27 176,0
3170TR1215 15 R1/2" 14,0 68,0 30,0 38,0 17 27 170,0
3170TR1216 16 R1/2" 14,0 710 31,5 395 19 30 210,0
3170TR1218 18 R1/2" 14,0 78,0 34,0 44,0 22 32 256,0

drawings and technical data are not binding & can be changed without notice




187 COMPRESSION FITTINGS / NICKEL-PLATED BRASS
3180 Union connector
o0 CODE @D L CHI CH2 g
‘
2 3180TR4 4 33,5 10 10 16,0
CH2 i s}ig
’ﬂig 3180TR6 6 36,5 12 12 250
\\ i 3180TR8 8 38,5 14 14 28,0
cH1/ H.'
\7 3180TR10 10 475 17 19 66,0
N
3180TR12 12 50,5 19 22 93,0
3180TR14 14 555 24 27 1480
3180TR15 15 555 24 27 140,0
3180TR16 16 58,0 24 30 1770
3180TR18 18 600 26 32 198,0
3190 Bulkhead connector
22 CODE @D T AMAX | L | CHl | CH2 g
Y
.y § £ 3190TR6 6 M10x1 15,5 515 14 12 32,0
N
éiﬁ s 3190TR8 8 MI12x1 16,5 555 16 14 420
o <
cHit % 3190TR10 10 M16x1,5 15,5 62,5 19 19 90,0
-
éi 3190TR12 12 M18x1,5 16,0 64,5 22 22 1160
/
'iﬁ‘gg 3190TR14 14 M22x1,5 18,0 69,5 25 27 192,0
T W
IA | é 3190TR15 15 M22x1,5 18,0 695 25 27 1840
3200 Union elbow
CODE @D L1 L2 CH1 CH2 e}
3200TR4 4 21.0 21,0 9 10 18,0
3200TR6 6 230 23,0 9 12 220
3200TR8 8 24,0 240 " 14 300
3200TR10 10 320 32,0 13 19 70,0
3200TR12 12 34,5 345 15 22 94,0
3200TR14 14 38,0 38,0 17 27 152,0
3200TR15 15 38,0 38,0 17 27 1440
3200TR16 16 39,5 39,5 19 30 186,0
3200TR18 18 440 440 22 32 228,0

drawings and technical data are not binding & can be changed without notice



COMPRESSION FITTINGS / NICKEL-PLATED BRASS 188

3210 Union tee
- CODE @D L1 12 CH1 CH2 g
et 3210TR4 4 42,0 21,0 Q 10 26,0
ﬁ = E 3210TR6 6 46,0 23,0 Q 12 30,0
N CH2 3210TR8 8 48,0 24,0 11 14 42,0
3210TR10 10 64,0 32,0 13 19 102,0
3210TR12 12 69,0 34,5 15 22 136,0
3210TR14 14 76,0 38,0 17 27 226,0
3210TR15 15 76,0 38,0 17 27 208,0
3210TR16 16 79,0 39,5 19 30 272,0
3210TR18 18 88,0 44,0 22 32 330,0
3230 Locking nut
CODE @D T A L CH g
2D 3230TRM814 4 M8x1 75 11,0 10 4,2
i ew [T 3230TRM1016 6 M10x1 8,5 ns 12 54
jﬁi < - 3230TRM1218 8 M12x1 9,0 12,0 14 70
2 LL' 3230TRM161510 10 M16x1,5 11,5 15,5 19 18,2
3230TRM181512 12 M18x1,5 1,5 15,5 22 25,0
3230TRM221514 14 M22x1,5 12,0 175 27 44,3
3230TRM221515 15 M22x1,5 12,0 170 27 41,1
3230TRM241516 16 M24x1,5 12,0 175 30 55,6
3230TRM261518 18 M26x1,5 12,5 18,5 32 64,2
3240 Ogive
CODE @D1 @D2 L g
oD2 3240TR4 4 6 60 0,45
; J 3240TR6 6 8 70 0,82
a - 3240TR8 8 10 70 112
201 3240TR10 10 13 100 3,32
3240TR12 12 15 10,0 3,80
3240TR14 14 17 10,0 4,40
3240TR15 15 18 100 476
3240TR16 16 19 10,0 5,04
3240TR18 18 2 105 592

drawings and technical data are not binding & can be changed without notice 0



189 COMPRESSION FITTINGS / NICKEL-PLATED BRASS

3250 Internal support bush
oD CODE TUBE @D @D1 @D2 L g
j 3250TR4 4 2,5 3,5 10,0 0,20
3250TR6 6 4,0 55 12,0 0,60
- 3250TR8 8 60 75 13,0 1,00
— 5 3250TR10 10 8,0 9.5 14,0 1,40
202 3250TR12 12 100 15 160 2,20
3250TR14 14 12,0 13,5 16,0 2,60
3250TR15 15 12,5 14,5 170 2,80
3250TR16 16 14,0 15,5 18,0 3,40
3250TR18 18 16,0 175 19,0
1176 Bulkhead locking nut
CODE T CH g
cH 1176TRM101 M10x1 14 30
&r 1176TRM121 M12x1 16 38
—L 1176TRM1615 M16x1,5 19 50
T 1176TRM1815 M18x1,5 22 70
1176TRM2215 M22x1,5 25 170

a drawings and technical data are not binding & can be changed without notice



